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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

Ans

A monkey sitting on a branch of a tree suddenly falling down towards the ground is an example
of

TS U5 T @ W 43 UEH GGl I HAeh oAt T AT i Far FI TH
3G §

x

; Law of conservation of mass
- FHefa-dwemor & s
, Law of conservation of energy
 Sofi-EReToT & for
Kepler's laws

3.
FIe & I
Newton’s third law of motion

x4'm@3¥¢lﬁr$m1ﬁuﬂ

v

x

Question ID : 9888374641
Status : Answered
Chosen Option : 2

Q.2

Ans

If ABSENT = BDVISZ, then SCHOOL will be coded as:
afg ABSENT = BDVISZ g, @ SCHOOL T #ig &1 8?2

< 1. TEKRRS
X 2. TKERTS
v 3 TEKSTR
X 4 TKESSR

Question ID : 9888374706
Status : Answered
Chosen Option :3

Q3

Ans

0.1,0.9,0.01,0.09, - 0.009
X 1.0.1010
« 2.0.001

< 3.0.0001
< 4.0.01

Question ID : 9888374701
Status : Answered
Chosen Option : 2

Q4

Ans

If P means ‘subtraction’, Q means ‘division’, R means “addition’ and S means ‘multiplication’,
then 15Q3R24P1282="7

afg P & 3 e &, Q # a amr 3, R # oad W SRS @ o qew g, ar
1I5Q3R24P1252="7

X 17
X229
X309
VER

Question ID : 9888374708
Status : Answered
Chosen Option : 4
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Q.5

Ans

Rhinoscope is an instrument for examining the

NECIRSb] &1 ST F FT TH ITHT B

Nose
1.
« BIED

X 2 Evyes
i@

Brain
HAETSh

Ears
4.
X e

X 3.

Question ID :9888374645
Status : Marked For Review
Chosen Option : 4

Q.6

Ans

Simplify:x(x - 2)+ 3x(x - 3)
L HIAT - - 2)+3:dx—3)
AT

K 2. 4x? +5x

K 3 4x? +11x

K 4 4x? _s5x

Question ID :9888374687
Status : Answered
Chosen Option :1

Q7

The cash difference between the selling price of an article at a profit of 8% and 10% 1s Rs.3. The
ratio of two selling prices 1s-

T TEG BT 8% TAT 10% F il 7 sl W w7 Aeat 7 3 T4 1 el ¢l gt s
AT I -

Question ID : 9888374685
Status : Answered
Chosen Option : 2

Ans X 1.54:59
o 25455
X 3.54:57
X 4.54:56
Qs Mr. Ashwani sold a bus for Rs_ 510 with a loss of 15 %. At what price should the bus be sold to

Ans

get a profit of 15 %2
3TEgelt U T/ T 15% Il 9T 510 TR 7 STaT &1 15% o1 U1t o oI 38 30 99 $f 6
He W F717 Afgu?
Rs. 650
1.
X L. 650
Rs. 680
2.
X L. 680
Rs. 700
3.
X H.T700
\f4~ Es. 690
. 690

Question ID : 9888374683
Status : Answered
Chosen Option : 4

Q9

Ans

What 1s NOT true regarding the voting rights under the democratic system 1n India?
SR T wihditas Yoell & dgd AdgH & HUPR & Taer 7 & 7 T Fle-ar
FUA A AN B2

v

Those who are deemed unsound of mind can also vote

AETF ¥ § Ia€T a1 off Adge & d9d &
52

Only people with their names on the electoral roll are allowed to vote
&ael 34 @I @I Adelel 1 AT § Toleds 1 Adgrar g # g

X 3.

Any citizen over the age of 18 can vote
18 a¥ & 31fa= 3my &1 12 ot APRE Adae X FFaT &

x There 1s no gender discrimination
4.

3HA FIg ATIF sdeua 78 §

Question ID : 9888374635
Status : Answered
Chosen Option :3

221


https://rrbexamportal.com
https://rrbexamportal.com
https://rrbexamportal.com

Q10 The theme of World Environment Day 2016 was:

fasg gafayor fegaw 2016 &1 offa ofr:
Ans Green Economy: Does it include you?
1.
gRd srdfcaasem: a1 388 39 afAEd §7
v 2

Zero tolerance for the illegal trade in wildlife
g Sfat & 3de @R & fow qob smfgsorar
Small Islands and Climate Change
AR cdrT 3R Serary aftacds
X 4

Seven Billion Dreams; One Planet; Consume with Care

ard 3RE 99e1; U g; @Al & A1 IUHET

Question ID : 9888374628
Status : Answered
Chosen Option : 4

Q.11 IfA denotes “add’, B denotes ‘subtract’, C denotes ‘multiply” and D denotes ‘divide’, which of
the following is correct?

afg A @1 3 FiE, B & a1 me, C & I emw 3R D # sy aer g ar
s ¥ P w32
Ans X 1 J6C4DEBT7A4=10

BC4D8BT7A4=10

x 2 16 C12A49D 7B 9=200
16 C12A 49D 7B 9 =200

v BCBASRSDSBS=57
6CB8ASEDSEB S8 =057

X 4 2DE8C9=160B12C 12
'32D8C9=160B 12 C 12

Question ID : 9888374709
Status : Answered
Chosen Option : 3

Q.12 18 men built a tanker in 25 days. How many days would it take for 10 men?
18 31Tee Y Uk EhT 1 25 TEaT 7 Fard F1 10 3 32t T Y Fhcel AT 3 Fol Tah 22

Ans X 1.452
V2 a5
K 3451
X 4 46

Question ID : 9888374674
Status : Answered
Chosen Option : 2

Q.13 IfCOME 1s coded as EMOC, then TRAIN 1s coded as:
afe COME & EMOC & &7 & @i fFem amar &, af TRAIN &t & w7 A
Fiz foran soam|

Ans X 1. NRIAT
W 2 NIART
& 3. NIRAT
& 4 NAIRT

Question ID : 9888374707
Status : Answered
Chosen Option : 2

Q.14 Choose the odd one from the following:

Fef@a & @ o1 3= & A 75 @ar
Ans X1H0CK_EY
-t
FOOTBALL
Xz.a o

CHESS

EIGIE
BASEBALL

-L:CI

V3
p

Question ID : 9888374711
Status : Answered
Chosen Option : 3
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Q.15 Which of the following 1s NOT a modifier key in an IBM compatible computer?
oot & & Ay gl () ST d@or e F A Sl A6 g7

Ans x 1. Ctrl
75 2. Windows key

J 3. Tab
/< 4. Shift

Question ID
Status
Chosen Option

19888374653
:Marked For Review
12

Q.16 Which one does NOT belong to the category of metallic minerals?
AT 7 @ Far aiicas @faell &1 Al & detaa =@ §?
Ans Coal
v PRI
Nickel
e

Bauxite

X3,
EIERI1ET

K2

Tin
Kalll

Question ID
Status
Chosen Option

19888374649
:Answered
1

Q17 Q3C,S5E,USG, W12I,
Ans X' 1. X17K

X 2. Y15K

X 3 Z15K

v 4 Y17K

Question ID
Status
Chosen Option

19888374703
:Answered
14

Q.18 There are total 200 students in a school, of which %“‘ are boys. Find the number of girls in the

school.
e faearerd # 200 fagamef €, fowet & %ma@_*é‘l Taeamer A srsfral i1 de A

EAE
Ans  of 1140

< 2. 60
< 340
X 4120

Question ID
Status
Chosen Option

19888374662
:Answered
1

Q.19 The engine of the
& ore, Tavd T FaE QI wrERier A9 ST Bl

Ans x 1 Palace on Wheels
terg 3 iew
Maharaja Express
52
AEHIST Taadd
v Fairy Queen
H Tl
. Golden Chariot
IessT AiEeE

. 1s the oldest working steam locomotive in the World.

x

Question ID
Status
Chosen Option

19888374660
:Answered
:3

Q.20 Who won the “Man Booker prize 2016° for the book The Sellout?
G ARIIBC AHF fohard & TIw 2016 &1 A Joh [EPR 8 Tem?

Ans X 1 I M Coetzee
of UH Ul
X 2 David Szalay
sfas amer

Question ID
Status
Chosen Option

19888374636
:Answered
14
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Madeleine Thien

| dde faroer
Paul Beatty
v VN

x

Q.21 Inaclass test, a student scored 8 marks out of 25 marks_ The student’s marks in percentage is-

e q{TaTT 3 wek faezmelf 25 7 3 8 3 31Teia ear ¥ Reanff & 3w ufdea A ¢
Ans x 1. 29
V2 32
X335
X 430

Question ID :9888374686
Status : Answered
Chosen Option : 2

Q.22 Below are given statements followed by some conclusions. You have to
take the given statements to be true even if they seem to be at variance
with the commonly known facts and then decide which of the given
conclusions logically follow(s) from the given statements.

Statements:
All women are married.
Some women are educated.
Conclusions:
I.  Some married are educated.
II.  Some educated are married.

A FO U AR Iad Heed QU v §1 AT 5 et
F TG AT § 0o g1 d FAId: Ad azal § e g
gl 3 Y I aF @ § & Ru o #la-d e sa
AT FT dlfhed & F TTerel FL gl
Y
asf wfgand Earfea 2
$o Afge? RfET €
forswy:
| 3T Rk R 3
Il Fo RIEd fTarfd g
Ans Only conclusion II follows
P Syt B 1| et e 3
Only conclusion I follows
Hael foIsehy | qrefel HLar ¢
Either only I or only IT follows

AT @Y shdel | AT Shael || UTelsl &Ham ¢
Both I and IT follow

Y SR S T s E

52

F 3

Question ID : 9888374720
Status : Answered
Chosen Option : 4

Q.23

Question ID : 9888374732
Status : Answered
Chosen Option : 4
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A question and two statements labeled (), (II) are given. You have to
decide which etatamant(2) se/are enffiriant tn anewer the question.

Ans .. . F]Sta'temen't II alone is sufficient.

et 3R o 1 T §)

II. The Sf‘hﬁdulm_‘i dPﬂﬂl‘hll:F 1z at 15 30 hrs.
Data insufficient

2.
SR RCAICEIE I_[Ii C al) AR () fgw 1w &1 g a8

%?( 3 ;Statement [ alone is sufficient. 3 o Fgayaaa
s 3T F | e g

x ¥ Both the statements together are needed.
AT FUe HETE L

l. 20‘1 LT T TO RS BT I T L I T Y S TR Y

Q.24 What is 15% of 387F 15.30 &t §1
38 T 15% FATE?
Ans X1-6
X255
V357
X 45

Question ID : 9888374688
Status : Answered
Chosen Option : 3

Q25 Ap ordinary magnet does not attract
U HIUROT ok T IR G HLAT gl
Ans
., . Bionze
<hIET
Steel

K2 e

Iron

X 3. aier
x4 Nickel

Question ID : 9888374643
Status : Answered
Chosen Option :1

Q26 The main mountain ranges of India do NOT include:
AR $1 A&T 9dd @3l & g ATHAT 181 g
Ans i
X1 andh}ra
faea

Hindu Kush

V' Rg
53

Question ID : 9888374617
Status : Marked For Review
Chosen Option : 2

Q.27 Mr.Akhil invested Rs.13,500 in FD. How much will he get on maturity, if he invested it at 20%
per annum compound interest for 6 months, compounded quarterly?

3@ 13,500 T et # forder e &) aRuwraan g9 9x 38 e Rt i wrea gafr, afy
3T TG AR 6 FEAT F AT 20% AT gwafg soar A gr W g F § dws=
foramgY gafora ghar 82
Ans Rs. 14 8835
r 0 ?
L. 14,8835
Rs. 14 883.35

2.
5. 14,883.35

x

Question ID : 9888374682
Status : Answered
Chosen Option : 4
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Rs. 14,883

B, 14,883
Rs. 14,883.75

%, 14,883.75

X3
v

Q.28 Bhumika takes a total of 8 hours 20 minutes in walking a distance and cycling back to same place
where she started. She could walk both ways in 12 hours 15 minutes. The time taken by her to
cycle both ways 1s:

SATAHT U Gl 1 deet T e AR AETehel I aT9 YEAHTCA T2 9T 3T 37 el 8 6 20
ToeTe 7 T ot 1 98 gt 3 o e daer 12 52 15 @9 F a0 1 awdr &1 s
T AT 30 T IR 62 At 7 3% et et Sy et

Ans , 4 hours 25 min
4 H¢ 25 e
4 hours 45 min
4 H¢ 45 Aee
x3_4h_our335nu'.n
4 5¢ 35 e
4 hours 15 min

4 H¢ 15 e

Question ID
Status
Chosen Option

19888374678
:Answered
1

Q29 Linux is an example of*

feldier g SH%T T 3GIEI0T &:
Ans v Operating System
HRET e

Assembly Language

EECIRCEC T

Application Software

 UTERRYE TR

Programming Language

K2
K3
LN

Question ID
Status
Chosen Option

19888374650
:Answered
1

Q.30 The surface area (in sq.cm.) of a sphere with radius 1.5 cm 1s: ( Take 7r=%)
1.5 BT Fiaam aret v vl ST OO a1 he (a9 Gt 7)) Fr g1 ( n:%)

Ans X 1.190/21
X 2.190/7
< 3.198/21
o 4 198/7

Question ID
Status
Chosen Option

19888374691
:Answered
4

Q.31 Some of the greatest scientists gathered in the 1940s to figure out how to refine uranium and
build an atomic bomb. What was their work called?

1940 & garF # F@ AEHAH dAdl-F JU=a S 9leFa #= iT w@w) a7 &
ﬁﬂ‘rﬂr#ﬁ'ﬁrmgmmmaﬁaﬂnmmr?

Ans Pear] Harbour Project
" qd R e
Atomic Heritage
.2 9] faued (vetfas gfe)
x 3 Los Alamos Project
AT TeHANE Gleiee
Manhattan Project

v 4

Question ID
Status

Chosen Option :

19888374647
:Not Attempted and Mark

ed For Review
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Q.32 Which one of the following is a navigation satellite?
= 7 @ wlv-ar v Afga= 3uag €7
Ans  of 1 IRNSS
X 2.8LV-3
X 3. GSLV
X 4. PSLV

Question ID : 9888374654
Status : Answered
Chosen Option :1

Q.33 Mr. Ayush borrowed Rs. 3000 at 5% per annum compound interest. The compound interest
compounded annually for 2 years is:

Y THAE SIS T 5% e g 9 3000 I FUR T | 2 9§ 1 Tohafe sarT T
g afe; sarer arfdes wafera grar e
A
" X T
K2 3105
Vs
o m s

Question ID : 9888374681
Status : Answered
Chosen Option : 3

Q34 Complete the series:

AZCXE.
AT B G HL
AZCXE.....

X3 H
Xaw

Question ID : 9888374704
Status : Answered
Chosen Option : 1

Q.35 A woman invests Rs. 100 at the start of each year at 5% compound interest per annum. How
much will her investment be, at the end of the 2™ year?

ek ATEET 9o a¥ 1 YTINA A 5% T Ashafa sATeT &4 T 100 T &1 a2 et &1 gl
Y 37T T Fe TR el B
Ans J1 Rs 21525
F 21525

Rs. 215.75
2.
x 5 21575

Rs. 215
3.
x 5 215

Rs. 2155
K4 iss

Question ID : 9888374690
Status : Answered
Chosen Option :1

Q36 ACE :FHI:: 0Q5:

Question ID :9888374698

Ans X 1. PES Status : Answered
X 2. TXV Chosen Option : 3
v o TVX
X 4 RPS
Q.37 island 1s the only active volcano of India. ,
- Question ID : 9888374619
_ cd aRa #1 AT Gfhd Sarad g Status :Not Attempted and Mark
ed For Review
Ans ster rock
X 1 Oy Chosen Option : -

L .
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Havelock

?(2-% y

Q.38 Divide Rs. 162 in the ratio 2:3:6:7. The rupees in the respective ratios are given by:
F. 162 FT 2:3:6:7 F ST A S1¢ | Haldd 3e]ma # T €
Ans x 1 18,27, 53 & 64
18,27, 53 TTT 64
18,27,55 & 62
18,27, 55 AT 62
18,27, 54 & 63
18,27, 54 dAT 63
18,28, 53 & 63
18, 28, 53 9T 63

Question ID : 9888374672
Status : Answered
Chosen Option :3

Q.39 Georges Lemaitre 1s related with the

EIC e ° Hataa g

Ans o Big Bang theory
faar dar o

X 2 Electric current
facga
Solar system
N
HIT s
Deoxyribonucleic acid

X4'%ﬁm@¢@mﬁa¥m

Question ID : 9888374646
Status : Marked For Review
Chosen Option :1

Q40 PALE : LEAP : : POSH :
Ans  of 1 SHOP

< 2. HSPO

< 3. POHS

X 4 HSOP

Question ID : 9888374699
Status : Answered
Chosen Option : 1

Q.41 became the latest sports person to win four consecutive Olympic gold medals in
the same event.

s & gicifar # wemar ar il @l ugw Sfiaer arer Adeas
TEemET =1 IUATE

Ans v Michael Phelps
1.
ASsel ety

) Larisa Latynina
GGG EICE
Usain Bolt

3.
38 dlec
. Dipa Karmakar

&1 AT

x

x

x

Question ID :9888374638
Status : Answered
Chosen Option : 3

Q42 9 25 49 121,169

Ans J1_4

Question ID :9888374700
Status : Answered
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X 21
K33
X 42

Chosen Option :2 J

Q43 TELEX stands for:
CelE gHeT Tlaltd 9 &:
Ans x 1. Telegram Express
ol TFaYH
Telecommunication Exchange
M
PR Teleprinter Exchange
el usFaeet
Telephone Exchange

54

Question ID : 9888374656
Status : Answered
Chosen Option : 2

Q44 Find the missing term of the sequence.
AB_BA, ABC, CBA, ABCD,
H@eT H e]ITEd UG 1 IaT oEm |
AB, BA, ABC, CBA, ABCD, _
Ans X 1. DABC
v 2. DCBA
X 3. DBCA
< 4. DBAC

Question ID : 9888374702
Status : Answered

Chosen Option : 2

Q.45

]

;

Lol Ifsie: (7)° {?%T

Simplify: (7) {7

Ans X 1.1/14
v
<314
X 47

Question ID : 9888374668
Status : Answered
Chosen Option : 2

Q.46 ‘Airlander 10°, the World’s largest hybrid airship, which had its first test flight in August 2016,

was designed and manufactured in .

I 2016 F I TG TR IS AT arer g & §ay 98 gehE
Fas dig wReE 10 @ fBeea 3R FEvr _ F e o em

Ans x 1 Russia
g

USA
HFd T ITANH
Germany

EET)

K2

53

UK
(4.n E ]

Question ID : 9888374612

Status : Not Attempted and Mark
ed For Review

Chosen Option : ==

Comprehension:
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A family has 6 members P, Q, R, 5, T, and U.
Q 1s the son of B, but R 1s not the mother of Q. P and K are a married
couple. T 15 the brother of B § 15 the daughter of P. U 1s the sister of Q.

tHoiER A6 e P, Q, R, S, T 3k U.
Q R &1 &¢T g, ofhed R Q &1 AT «g1 g1 P 3IX R u&
faarfgd gorer §1 T R &1 oS 81 S P & &€ g1 U Q &1

age gl

SubQuestion No : 47

Q4 i 1 i i 117
What 1s the ratio of Males to Females in this family? Quesion ID : 9883374718

7
i@ # qeul 37T AfRensit &1 T F4r §? Status : Answered

Chosen Option : 3
Ans 1. 5:1 >

< 2.2:1
RN
X 4122

Comprehension:

A family has 6 members P, Q, R S, T, and U.
(Q 1s the son of R, but R 1s not the mother of Q. P and R are a married
couple. T 15 the brother of B § 1s the daughter of P. U 1s the sister of ().

thH @R A 6 @eT g P, Q, R, S, T 3w U.
Q R &7 &cT g, oifhd R Q &7 AT «af gl P 3IX R o
faarfgd gorer §1 TR &1 a1 81 S P & &€ 1 U Q &1

age gl

SubQuestion No : 48

Q4 Who i ?
8 o 1s the son of P Question ID : 9888374717
P @ deT el %'? Status : Answered
Ans o 1. Q Chosen Option :1
X 2R

None of the given opiions

T or fawedt # ¥ FE FE
X 4T

53

Comprehension:

A family has 6 members P, Q, R, 5, T, and U.
Q 1s the son of B, but R 1s not the mother of Q. P and K are a married
couple. T 15 the brother of B § 15 the daughter of P. U 1s the sister of Q.

HoiER A6 e e P, Q R, S, T 3k U.
Q R & &e1 g, ofehst R Q &1 AT @87 g1 P 3R R &
faafgd grer §1 TR s 81 SP A& g1 U Q H:

I5T gl
SubQuestion No : 49
Q4 r r =7
5 How many brothers does U have? Question ID : 9388374719
U & ﬁﬁ?" SZI'Ié' 'E.F'? Status : Answered
Ans x 1.3 Chosen Option :2

v
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X 32

X None
4.
s &t g

Q.50

The Arjuna Awardee for 2016 in the discipline of Athletics was:

2016 & Tuelfcad & folv o[ QR faotar /e

Question ID : 9888374625
Status : Answered

Ans “ Lalita Babar Chosen Option : 2
1.
efeldr dET
x Amit Kumar Saroha
2.
AT FAR TWET
x 3 M. R. Poovamma
x Tintu Luka
4, .
G
T P}
Q.51 Fillin the blanks:
The Constitution of India puts a limit on the size of the Lok Sabha to elected members, Question ID : 9888374634
apart from members nomimated by the President to represent the Anglo-Indian community.
Status : Answered
: Ch Option :3
AR & HiEauE & AJER aas & ek gest f Fuifia e & osen Lption :
SHF e GASREA wen & gafies & ¥ e aGEa et
CaRT Feifeid T A g
Ans x ; 547 and 3
947 uq 3
x ) 543 and 2
943 uq 2
\f , 550 and 2
950 Tqg 2
X 4.
Q52 Question ID : 9888374705
Ans x N uestion ID :
Status : Answered
x 2. Chosen Option : 4
X 3.
v
Q.53
Ans x N Question ID : 9888374667
Status : Answered
v Chosen Option :2
X s
54
s Question ID :9888374630
Ans X N uestion ID :
Status : Not Attempted
X 2. Chosen Option : -
X s
- o3
ass Question ID : 9888374684
Ans x N uestion ID :
Status : Not Attempted and Mark
x 2. ed For Review

Chosen Option :

12721
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F.
Q.56 Question ID :9888374696
estion ID :
Ans x 1. -
Status : Answered
x 2. Chosen Option :4
X
v
Q.57
o ( . Question ID : 9888374731
Status : Answered
X 2 Chosen Option :1
X
F
Q.58 Question ID :9888374722
e X . uestion ID :
Status : Answered
X 2. Chosen Option :3
v
F
Q.59 Question ID :9888374637
e X . uestion ID :
Status : Answered
X 2 Chosen Option : 4
X
v
Q.60 Question ID :9888374618
uestion ID :
Ans X 1.
Status : Answered
x 2. Chosen Option : 4
X
v
Q.61 Question ID : 9888374639
estion ID :
Ans X 1. -
Status : Not Attempted
x 9 Chosen Option : ==
v
X
Q.62 Question ID :9888374658
estion ID :
Ans X 1. -
Status : Answered
x 2. Chosen Option :3
~ s
v
Q.63 Question ID :9888374633
estion ID :
Ans x 1. -
Status : Answered
« 2. Chosen Option :2
x s
F
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Q.6

Comprehension:

SubQuestion No : 64

4
Ans «1.

2.
3.
< 4.

Question ID : 9888374725
Status : Answered
Chosen Option : 1

Comprehension:

SubQuestion No : 65

Q.6
e Question ID : 9888374724
Ans X . Status : Answered
Chosen Option :3
X
W3
F
Q.66 Question ID :9888374629
e « . uestion ID :
Status : Answered
X 2. Chosen Option :2
X
X
Q.67 Question ID : 9888374616
estion ID :
Ans J 1. -
Status : Answered
X 2. Chosen Option : 1
X
X
Q.68 Question ID :9888374680
estion ID :
Ans X 1. -
Status : Answered
x 2. Chosen Option : 4
X s
v
Q.69 Question ID :9888374623
estion ID :
Ans x 1. -
Status : Answered
x 2. Chosen Option :3
Vs
r
Q.70
o « . Question ID :9888374622
Status : Answered
X 2 Chosen Option : 4
X
F
Q71
e X . Question ID : 9888374648
Status : Answered
X 2 Chosen Option : 4
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Q.72 Question ID :9888374659
estion ID :
Ans x 1. -
Status : Answered
( 2. Chosen Option :3
X
x4
Q73
N ( . Question ID : 9888374670
Status : Answered
X 2 Chosen Option :1
X
F
Q74
N X . Question ID :9888374614
Status : Answered
X 2 Chosen Option : 4
v
F
Q.75 Question ID :9888374734
- X . uestion ID :
Status : Answered
X 2 Chosen Option : 4
v
F. 3
Q.76 Question ID :9888374661
uestion ID :
Ans X 1.
Status : Answered
x 2. Chosen Option :2
v
X
Q.77 Question ID :9888374692
estion ID :
Ans X 1. -
Status : Answered
x 2. Chosen Option : 4
X3
v
Q.78 Question ID :9888374615
estion ID :
Ans “ 1. -
Status : Answered
x 2. Chosen Option : 4
~ s
x4
Q.79 Question ID : 9888374697
estion ID :
Ans ( 1. -
Status : Answered
X 2. Chosen Option :1
x s
F
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Q.80

Ans - Question ID : 9888374651
x 1. Status : Answered
“ 2. Chosen Option :2
X 3.
54
Q.81
Ans Question ID : 9888374626
x 1. Status : Answered
« 2. Chosen Option :2
X s
X 4.
Q.82
Ans ° Question ID : 9888374669
x I Status : Answered
X 2. Chosen Option :3
v
X 4.
Q.83
; Question ID : 9888374640
Ans x 1.
Status : Not Attempted and Mark
( 2 ed For Review
; Chosen Option : --
X s
54

Comprehension:

SubQuestion No : 84

Q.8
4 Question ID :9888374729
Ans « 1 Status : Answered
) Chosen Option :1
X 2
X 3.
<4
Comprehension:
SubQuestion No : 85
Q8
5 Question ID :9888374730
Ans x 1 Status : Answered
Chosen Option :2
v &)
X s
& 4.
Comprehension:
SubQuestion No : 86
Q.8
6 Question ID :9888374727
Ans x 1 Status : Answered
; Chosen Option : 4
X 2
X s

v

Comprehension:
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SubQuestion No : 87

Q.8
7 Question ID :9888374728
Ans X 1. Status : Answered
Chosen Option : 4
X2
X s
(4.
ass Question ID : 9888374621
Ans X N uestion ID :
Status : Answered
X 2. Chosen Option :3
V&
< 4.
Q.89
Ans X N Question ID : 9888374679
Status : Not Attempted
X 2. Chosen Option : -
X
v
.90 Question ID :9888374712
estion ID :
Ans X 1. uest
Status : Answered
X 2. Chosen Option :4
X s
v
Q.91
estion ID : 9888374695
Ans x N Questi
Status : Not Attempted and Mark
« 2 ed For Review
Chosen Option : ==
X s
r
Q.92
tion ID :9888374666
Ans X 1. Question
Status : Not Attempted and Mark
X 2. ed For Review
Chosen Option : --
v
F
Q.93
Ans X N Question ID : 9888374613
Status : Not Attempted and Mark
X 2. ed For Review
Chosen Option :--
X s
” o3
Q.94
Ans X " Question ID :9888374710
Status : Not Attempted and Mark
“ 2. ed For Review
Chosen Option :--
X s
F.
Q.95
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Ans X 1. Question ID :9888374627
Status : Not Attempted and Mark
J 2. ed For Review
x 3. Chosen Option : -
F
9% Question ID :9888374715
Ans X N uestion ID :
Status : Answered
X 2. Chosen Option : 4
X s
o3
Q.97
Ans ( . Question ID :9888374694
Status : Not Attempted and Mark
X 2. ed For Review
Chosen Option :--
X 3.
F
Q.98
Question ID : 9888374675
Ans X N uestion
Status : Not Attempted and Mark
“ 2. ed For Review
Chosen Option : --
X 3.
< 4.
Q.99
estion ID : 9888374676
Ans X N Questi
Status : Not Attempted and Mark
X 2. ed For Review
Chosen Option :--
X 3.
v
Q.10
0 Question ID :9888374655
Ans X 1. Status : Answered
Chosen Option : 4
X2
X s
o8
Q.10
1 Question ID : 9888374677
Ans J 1 Status : Not Attempted
Chosen Option : ==
X 2
X s
~ 4
Q.10
2 Question ID : 9888374665
Ans X 1. Status : Answered
Chosen Option : 2
V2
X 3.
F.
Q.10
3 Question ID : 9888374620
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Ans X 1. Status : Answered
« 5 Chosen Option : 2
X
x4
Q.10
4 Question ID :9888374714
Ans X 1. Status : Answered
Chosen Option : 2
V2
X s
F
Q.10
5 Question ID :9888374652
Ans X 1. Status : Answered
Chosen Option : 4
X2
X s
v
Q.10
6 Question ID :9888374644
Ans X 1. Status : Answered
Chosen Option : 4
X2
X
v
Q.10
7 Question ID : 9888374671
Ans x 1. Status : Not Attempted and Mark
ed For Review
X2 Chosen Option : =
v
F
Q.10
8 Question ID :9888374721
Ans  of 1. Status : Answered
Chosen Option :1
X2
X
F.
Q.10
9 Question ID : 9888374689
Ans X 1. Status : Answered
Chosen Option : 2
V2
X
F
Q.11
0 Question ID :9888374624
Ans X 1. Status : Not Attempted and Mark
ed For Review
x 2. Chosen Option : --
X
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Q11

1 Question ID :9888374631
Ans x 1. Status : Answered
Chosen Option : 2
V2
X s
x4
Q11
2 Question ID : 9888374642
Ans X 1. Status : Answered
Chosen Option : 3
X2
V&
X 4
Q11
3 Question ID : 9888374693
Ans x 1. Status : Answered
Chosen Option : 3
X2
v
X 4
Q.11
4 Question ID :9888374713
Ans X 1. Status : Answered
Chosen Option : 4
X2
X
v
Q11
5 Question ID : 9888374663
Ans X 1. Status : Answered
Chosen Option : 2
V2
X
X 4
Q.11
6 Question ID :9888374632
Ans x 1. Status : Answered
Chosen Option : 4
X2
v
x4
Q.11
7 Question ID : 9888374733
Ans “ 1. Status : Answered
Chosen Option :1
X2
X
X 4
Q11
8 Question ID : 9888374657
Ans ( 1. Status : Answered

Chosen Option

1
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X 4.
Q11
9 Question ID :9888374673
Ans « 1. Status : Answered
Chosen Option :1
X2
X
X 4.
Q.12
0 Question ID : 9888374664
Ans x 1. Status : Answered
Chosen Option : 4
X2
X s
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